AIACONIZMA

MAGHMA: MaBnuaTika

HMEPOMHNIA: ..... /12710

1) Na uttoAoyioeTe 10 X.

a) log; 9=x

y) logx=4

2) Na deigete oI :

a) IogZ+I0932:3
log 24 —log 6
8) log,8—10g100+log,a°

y) 2log5+log8-log2=2

3) Na AuoeTte TIG €€I0WOEIG.

G) 3 4x+10 =9 3x+4

) (2=

10
5 3)

<

log1+log0,001+log, 36

(B-2)
B) log, 32=5
5) log ,+/2 =x
(B-3)
(B.1-1-1-2-2)




6) 2X+4 _ 2X+3 + 2X+l — 320

£) 4*-9-2% +8=0

4) Na AUoete TIG €€I0WOEIG.

a) log7x-log3=log14

B) log(x-7)+logx =1+log(1-x)

y) log?x-2logx-8=0

8) 36 °9*-7-6 9" +6=0

(B-8)



